MC FIRE#E TECHNICAL SPECIFICATIONS

; - s S - s s = L b ¥ b it A R s
WE bR BUERE MR Wk mkmy SRR RRAE BARE L gwa  BE
Output TIIILEJ? Rated  Full-load  Efficiency Full-load Locked Locked Break  Starting Net
S speed current n% E’ov;/er Rotor Rotor Down capacitor Weight
. In(A)  %O0ffullload factor 250y
M C M Y M kw r/min 250V Current Torque Torque ) =
» F
I_S ERIES 2-POLES
O== = 0.18 71 2750 1.89 60 0.72 6.3 3.0 75 6.2
gﬁ”%*ﬁ%mm@ﬂ%ﬁbﬂt 0.25 71 2770 2.4 64 0.74 6.25 3.0 e 75 6.3
. . . . S 1.8 .
SINGLE PHASE TEFC ALUMINUM 0.37 80 2800 3.36 65 0.77 6.25 2.8 1.8 100 8.3
. . . . . 1 .
INDUCTION MOTORS 0.55 80 2810 4.65 68 0.79 6.24 2.8 1.8 50 9.0
0.75 90S 2820 5.94 70 0.82 6.1 2.5 1.8 200 12.5
1.1 90L 2820 8.37 72 0.83 7.2 2.5 1.8 300 14.0
1.5 100LA 2830 11.1 73 0.84 7.2 25 1.8 400 225
: - 2.2 100LB 2830 15.7 75 0.85 7.65 2.2 2X300 25.5
XL EAL R B AR TS FR ENH 1.8
MLE A 51 3.0 112M 2840 21.1 76 0.85 7.1 2.2 1.8 2X300 26.0
MCEERBHERT! 4-POLES
mt;%;ﬁfg—ﬁgg T, 0.12 71 1350 1.88 50 0.58 4.8 3.0 1.8 75 6.1
M I , EBE RN IS1=Es 54 , W= EM.
. e . 0.18 71 1370 2.49 53 0.62 4.8 2.8 75 6.7
MYZRFIEBEA R ATFRENEERSE , WRHNHKE, e
0.25 80 1400 3.1 58 0.63 4.8 2.8 1.8 100 8.9
WON DERKR B2 48 B 45 BB Zh A 1t 0.37 80 1410 4.24 62 0.64 5.0 2.5 1.8 100 9.6
CTZNBTERVMA TGS |, (kR , KR | BEE Al & 0.55 90S 1420 5.49 66 0.69 5.2 2.5 1.8 150 12,5
Igsfsé}%%%g?ﬂ%%;%gg;ﬂ — 0.75 9oL 1420 6.87 68 0.73 5.5 2.5 18 200 15.0
d ' 4 ' mIT o
- EREEBEA00V, SRESIE50Hz, 1.1 100LA 1430 9.52 71 0.74 6.4 2.5 1.8 400 23.0
- EAKM | RFIEE-20°C-40°C , Bk <1000k, 1.5 100LB 1430 12.5 73 0.75 6.4 2.5 1.8 400 27.0
- RABHRIC4LL, 2.2 112M 1440 17.8 74 0.76 6.8 2.2 18 2X300 35.0

MY B AREHE TECHNICAL SPECIFICATIONS

L& MOUNTING ARRANGEMENTS _ ., T - PO D : 7 B 0 1 e A .
o HE g AUEHE CENETECE I L g L T
asic type | Derived types of construction Output : Rated  Full-load  Efficiency Full-load Locked Locked Break  Running Net
of costruction IEC speed  current n% Power Rotor Rotor Down capacitor Weight
IMB3 IM V5 IM V6 IMB6 M B7 IM B8 Frame In(A) %0Of full load  factor
IM 1001 IM1011 IM1031 IM 1051 IM 1061 IM1071 kW r/min 220V Current Torque Torque SENY ]
. F
:D @ @ :EB @: w: 2-POLES
0.09 56 2730 0.79 56 0.92 3.2 0.5 1|74 6 3.2
IM B35 IMV15 IM V36 * * *
Im2001 IM 2011 IM 2031 IM 2051 IM 2061 IM 2071 0.12 56 2730 0.99 60 0.92 3.5 0.5 1.7 6 3.4
:I:U :IED EH:' H:H: 0.18 63 2740 1.37 65 0.92 3.7 0.4 1.7 6 3.9
0.25 63 2740 1.87 66 0.92 3.7 0.4 1.7 8 4.4
— * 3 A ® 3 037 71 2750 2.7:3 67 0.92 3.7 0:35 a7 12 6.2
2101 2w MG M2 M zer 2 055 71 2760 3.88 70 0.92 3.9 0.35 1.7 16 6.3
‘:[D] @ ‘:@ @: H:“: 075 80 2780 5.15 2 0.92 359 05338 1.7 30 8.3
1.10 80 2790 7.02 75 0.95 4.3 0.33 1.7 35 9.0
IM B5 IMV1 IM V6 1.50 90S 2800 9.44 76 0.95 4.8 0.30 1.7 40 13
3001 — IM3031 2.20 90L 2800 13.7 77 0.95 4.8 0.30 1.7 40 15
:D] 4-POLES
0.06 56 1330 0.61 50 0.90 3.3 0.45 1.7 6 3.2 95
IM B14 IMV18 IM V19 0.09 56 1340 0.87 52 0.90 2.9 0.45 1.7 6 3.4
Moo M e 0.12 63 1350 1.06 57 0.90 50 0.40 1.7 6 4.0 =
:D @ 018 63 1360 1.54 59 0.90 33 040 1.7 8 4.5 =
0.25 71 1370 2.02 61 0.92 3.4 0.35 1.7 12 6.1 =
()]
B S RE s E AT E RS =, 0E37 71 1370 2.95 62 0.92 3.4 0535 1.7 16 7.0 S
1) (ZEES L, IEC60034-7hRATEN. 0.55 80 1380 4.25 64 0.92 3.5 0.35 1.7 25 9.5
2)E¥IMV6,IMB6,IMB8Z2E /55 , IiIEAHIA. 0.75 80 1380 5.45 68 0.92 3.7 0.32 1.7/ 30 10
1.10 90S 1390 7.41 71 0.95 4 0.32 1.7 40 13
1.50 90L 1400 9.83 7.3 0.95 4.6 0.30 1.7/ 40 16

WONDER



<)

[e)}

ML 52 AREE TECHNICAL SPECIFICATIONS

WE M BUERE i e
Output Bl Rated Full-load Efficiency
e, eeesd el
KW ¢/min 2nZOV % Of full load
2-POLES
0.75 80 2800 4.94 45
1.10 80 2800 6.75 78
1.50 90S 2800 9.2 78
2.20 90L 2800 12.8 82
3.00 100L1 2820 {728 83
3.7 112M 2820 211 83
4-POLES
0.55 80 1400 3.88 70
0.75 80 1400 5122 71
1.10 90S 1400 6.93 76
1.50 90L 1400 9.2 78
2.20  100LA 1410 13.2 80
3.00 100LB 1420 173 83
3.7 112M 1430 211 83

Ty 2% R %L
Full-load

Power
factor

0.92

0.95

0.95

0.95

0.95

0.96

0.92

0.92

0.95

0.95

0.95

0.95

0.96

Rotor
Current

5.7

5.6

6.0

6:2

6.4

6.5

5.4

5.5

5.7

6.0

6.1

6.4

6.5

R
Locked
Rotor
Torque

ISON ¥
WE R
Break
Down
Torque

7

¥ 7
Starting Running i
capacitor capacitor Weight

(250v)

100

150

300

300

400

400

100

150

200

200

400

400

400

(450v)
L F

25

25

40

40

55

50

25

30

35

40

50

50

50

kg

8.3
9.0
12.5
14.0
20.5

26

8.9
9.6
13
16
23
20

35

IMEZ R TE MOUNTING AND OVERALL DIMENSIONS

B3 Y KK
— F N — —_—
e | o —
3 &4 = ———u e ¥
o, —
l_||| —— -
E C B
L
B5 il ! | KK
— F N I
L d] T
o 0Q [
?9: BZ = P WM/ I N B~
T, |
D T
E L
L
B35 T Y KK
e
0\8\ b= = :
3 |y = e NI
9 Lo L H |
T
E i |
C 1

Flange

size

23 R
Mounting dimensions(mm)

A AB AC AD B C D DH EF G

90 110 110 96 71 36 9
100 122 122 99 80 40 11 M4X12 23 4 8.5
112 136 138 110 90 45 14 M5X12 30 5 11

M4Xx12 20 3 7.2

SRR ~F
Overall dimensions(mm)

M N P S T GA

XxYxZ(mm)
H K L

56 7 M18X1.5 193100 80 120 7 3 10.2 97X124x46
63 7 M18X1.5218 115 95 140 9 3 12.5 97X124x46
71 7 -M18X1.5251 130 110 160 9 3.5 16 111X128x50

125 154 157 152 100 50 19
140 174 175 158 100 56 24
140 174 175 158 125 56 24

M6X16 40 6 15.5 80
M8x19 50 8 20 90
M8Xx19 50 8 20 90

10 M20X 1.5 286 165 130 200 12 3.5 21.5176X126x68
10 M20X 1.5 335 165 130 200 12 3.5 27 176X126x68
10 M20X 1.5 350 165 130 200 12 3.5 27 176X126x68

56 FF100
63 FF115
71 FF130
80 FF165
908 FF165
90L FF165
100L FF215
112M  FF215

160 194 196 177 140 63 28 M10X2260 8 24
190 224 220 184 140 70 28 M10X22 60 8 24

100 12 M20X 1.5 422 215 180 250 15 4 31 176X126x68
112 12 M20X1.5 434 215 180 250 15 4 31 176X126x68

(e}
~

MC MY ML



9

[0}

HMEZ R ~TE MOUNTING AND OVERALL DIMENSIONS EEENHNE4%ZE MOTOR SPARE PART LIST/DRAWING

B14

| KK

=
ﬁ!

KK

1.B3 =
2.Bl4ik=
3.B14f1B5SEF
45EF
5.B3EF
6.5 7K

7 5%
8.[Fihes
95555

10. A e A
11. 1263

12. KM

13. KR

14. i

224 R~ ]

XxYxZ(mm)

Flange Mounting dimensions(mm) Overall dimensions(mm)

size A AB ACAD B C D DH EF G H L M N P S T GA

Driving End Non driving End

Bearings

Bearings

56 FT65 90 110110 96 71 36 9 M4X12 203 7.2 56 0+1.0 7 M18X1.5193 65 50 80 M5 3 10.297X124X46

63 FT75 100122122 99 80 40 11 M4X12 234 8.5 63 0£1.0 7 M18X1.5218 75 60 90 M5 3 12.597X124X46 56
71 FT85 112136138 110 90 4514 M5X12 305 11 71 0£1.0 7 M18X1.5251 85 70 105M6 3.5 16 111X 128X50 63
80 FT100 125154157 15210050 19 M6X16 406 15.5 80 0+1.510M20X1.5286 100 80 120 M6 3.521.5176X126X68 71
90S FT115 140174175158 10056 24 M8X19 508 20 90 0+1.510M20X1.5335 115 95 140 M8 3.5 27 176X126X68 80
90L FT115 140174175158 12556 24 M8X19 508 20 90 0+1.510M20X1.5350 115 95 140 M8 3.5 27 176X126X68 90
100L FT130 160194196177 14063 28 M10X22608 24 1000+1.512M20X1.5422130110160 M8 4 31 176X126X68 100
112M  FT130 190224220184 14070 28 M10X22608 24 1120+1.512M20X1.5434130110160M8 4 31 176X126X68 112

6201 2RS/C3
6201 2RS/C3
6202 2RS/C3
6204 2RS/C3
6205 2RS/C3
6206 2RS/C3
62062RS/C3

6201 2RS/C3
6201 2RS/C3
6202 2RS/C3
6204 2RS/C3
6205 2RS/C3
6206 2RS/C3
6206 2RS/C3

1502
16.EENERVIRLL
17 ZL iR R Bl
18 L EZHTE
19. Bl EiE& SR
20. HIgE

21. B EIRE
22. EHAaE

23. EIZ5 S8

24, RENRYY

25 BRI EE
26.B5 jx=

27 ElEiE&aRe

$12X $22X5
d12X $22X7

Vo)
o

15X $25X7
20X $30X7
$25X $37X7
d30X $42X7

MC MY ML

d30X $42X7



